ISASMO Sample Paper (S2)|

1. How many different sums can be obtained by adding two different integers chosen from the set below?
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{-12,-11,-10, ..., +6, +7, +8}

2. Alex, Bruno, and Charles each add the lengths of two sides of the same triangle correctly. They get 27 cm,
35 cm, and 32 cm, respectively. Find the perimeter of the triangle, in cm.
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3. The sum of a proper fraction in lowest terms and its reciprocal equals ZE . Find the original proper

fraction.
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4.  Find the integer that exceeds —5 by the same amount that +13 exceeds —1.
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5. Suppose the base of a triangle is increased by 20%, and its height is increased by 30%. By what percent is

the area of the triangle increased?
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6. 561 is the product of 3 different prime numbers. How many factors of 561 are not prime?
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7.  The first three terms in a sequence are: 1, 2, 3. Each term after that is the opposite of the sum of the three
previous terms. For example, the 4™ term is —6 (the opposite of 1+2+3),and the 5™ term is 1. What is
the 99" term?
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8.  The picture shows a “spiral” that begins at the origin (0,0) and passes through every lattice point in the
plane. Each small arrow is 1 unit in length. Following the “spiral”, what is the length of the path from the
origin to the point (5,3)?
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10.

A circle with radius 5 cm intersects a circle with radius 3 cm as shown. The area of the shaded region is
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> square cm. Find the total combined area inside the circles, but outside the shaded region. Leave your

answer in terms of 7.
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Starting with 1, Sara lists the counting numbers in order but omits all those that use the digit 9.
What is the 300™ number on her list?
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